
Drainage Parts
Catch Basin
Hardware

Other tools required 

Section Lengths (3)

Part A

1/4” Bolt 

Rubber Mallet 

Rebar 

String-Line and laser level 

Adjustable Wrench 

Tape  

Measuring Tape 

Catch Basin 

Outlet Strainer 

Catch Basin 
Adapter Plate Slot Drain End Plate 

Pan Lid Silicone 

Part B

1/4” Hex Nut 

Part C

1/4” Washer

Part D

#10 Carriage Bolt 

Part E

#10  Hex Nut

Part F

#10  Washer

What’s in the Kit? 

SPECIFYING ENGINEER IS RESPONSIBLE FOR CONCRETE ENCASEMENT AND REINFORCING
BASED UPON APPLICATION AND LOCAL CODES. SLOT DRAIN SYSTEMS RESERVES THE RIGHT
TO CHANGE THE PRODUCT AND SPECIFICATIONS WITHOUT NOTICE

Need Support? 
Contact us at 855.497.7508 or email us at support@globaldraintech.com

Drain Section
Hardware


